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Problem 1 (12 points) We first analyze the properties of the basic blocks. We note that:

• The delay system, block (1), is LTI. To see this, let us consider the system y(t) =

x(t − 1). Suppose we have y1(t) = x1(t − 1) and y2(t) = x2(t − 1). If we have

input ax1(t) + bx2(t), then the output is ax1(t − 1) + bx2(t − 1) = ay1(t) + by2(t),

implying the linearity of the system. If we have input x(t − t0), then the output is

x(t− 1− t0) = y(t− t0), implying the time-invariance of the system.

• The multiplication system, block (2), is LTI if a = 0 and is not LTI if a 6= 0. (we

suppose A 6= 0.) To see this, when a = 0, the system becomes y(t) = Ax(t), which is

obviously LTI. When a 6= 0, we have y(t) = Aeatx(t). Then the output corresponding

to the input x(t − t0) is Aeatx(t − t0); however, the shifted output is y(t − t0) =

Aea(t−t0)x(t− t0). So the system is not LTI when a 6= 0.

• The integral system, block (3), is LTI. Suppose we have y1(t) =
∫ t
−∞ x1(τ)dτ and

y2(t) =
∫ t
−∞ x2(τ)dτ . If we have input ax1(t) + bx2(t), then the output is

∫ t
−∞[ax1(τ) +

bx2(τ)]dτ = ay1(t) + by2(t), implying the linearity of the system. If we have input

x(t − t0), then the output is
∫ t
−∞ x(τ − t0)dτ =

∫ t−t0
−∞ x(λ)dλ = y(t − t0) (by setting

λ = τ − t0), implying the time-invariance of the system.

Next, we have the following two properties of the overall system:

• The interconnection of LTI systems is still an LTI system. We consider the cascade

connection and the parallel connection. If we have two LTI systems with impulse

response h1(t) and h2(t), then the impulse response of the parallel connection is h1(t)+

h2(t) and the impulse response of the cascade connection of these two systems is h1(t)?

h2(t) = h2(t) ? h1(t). This means that if we exchange the order of cascade connection

of two LTI systems, then we have the same system.
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• The interconnection of non-LTI systems may be or may not be an LTI system. For

example, the system y(t) = e(t−1)e−tx(t−1) = e−1x(t−1) is an LTI system, which is a

concatenation of a multiplication x(t)et, a delay x(t−1)et−1 and another multiplication

y(t) = x(t− 1)et−1e−t. In this case, we cannot exchange the order of the blocks. If we

exchange the first two blocks, then the system becomes y(t) = x(t−1)ete−t = x(t−1),

which is a different system.

Hence, we have two methods to do this problem.

Method 1 is that you know the system equation of the input and output, then you

connect each operation blocks to get the system.

Method 2 is that you know the LTI system impulse response h(t), then you use the

property that h(t) is the response of the input δ(t), by assuming that the input is δ(t), and

the output is h(t). However, if you use method 2, you need to pay attention that the built

system should be an LTI system if you are using non-LTI blocks. To sum up, two conditions

need to be satisfied: (1) the overall system should be an LTI system; and (2) the output is

h(t) when you have the input δ(t). Then the system can be represented by y(t) = x(t)?h(t).

(a) We build this system using method 1, because we know the system function y(t) =

T{x(t)}. The system is shown in Fig.1 (a). The system is not time invariant, because

if the input is x(t− t0), the output is

2x(t− t0 − 3) +

∫ t−1

−∞
3e2τx(τ − t0) dτ

= 2x(t− t0 − 3) +

∫ t−t0−1

−∞
3e2(v+t0)x(v) dv,

but,

y(t− t0) = 2x(t− t0 − 3) +

∫ t−t0−1

−∞
3e2vx(v) dv.

(b) We use the second method to build this system. We first have

h1(t) = 3δ(t− 2) + 5[u(t)− u(t− 1)]

= 3δ(t− 2) + 5[

∫ t

−∞
δ(τ) dτ −

∫ t−1

−∞
δ(τ) dτ ]

The system then can be shown in Fig.1 (b). Here, because all the blocks we are using

are LTI blocks, the overall system is LTI. Also, the response to the input δ(t) is h1(t).

Then our system impulse response is h1(t). The system is causal, since h1(t) = 0 for

t < 0.
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Figure 1: Systems consisting of basic blocks
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(c) We first calculate the inverse Laplace transform to get h2(t):

H2(s) =
5s+ 7

(s+ 1)(s+ 2)
=

2

s+ 1
+

3

s+ 2
;

h2(t) = L−1{H2(s)} = (2e−t + 3e−2t)u(t).

Here we can use two methods to build the system.

Method 1: we calculate the relationship of the input and output:

y(t) = x(t) ? h2(t) =

∫ ∞
−∞

x(τ)[2e−(t−τ) + 3e−2(t−τ)]u(t− τ) dτ

=

∫ t

−∞
x(τ)[2e−(t−τ) + 3e−2(t−τ)] dτ

= 2e−t
∫ t

−∞
x(τ)eτ dτ + 3e−2t

∫ t

−∞
x(τ)e2τ dτ.

Method 2: we use the impulse response h2(t). Here you need to be careful, because

if you only consider h2(t) = (2e−t + 3e−2t)
∫ t
−∞ δ(τ)dτ , and you get an integral and a

multiplication, then the system becomes y(t) = (2e−t+3e−2t)
∫ t
−∞ x(τ)dτ , which is not

an LTI system. To use this method, you need to write the system impulse response

as h2(t) = (2e−t
∫ t
−∞ δ(τ)eτdτ + 3e−2t

∫ t
−∞ δ(τ)e2τdτ), then the system becomes an LTI

system: y(t) =
∫ t
−∞[2e−(t−τ) + 3e−2(t−τ)]x(τ)dτ .

Two methods achieve the same system diagram, as shown in Fig.1 (c). The system

is stable, because the integral
∫∞
−∞ |h2(t)|dt =

∫∞
0

(2e−t + 3e−2t)dt = 2 + 3/2 = 3.5

converges.

Problem 2 (10 points)

(a) The signal x1 is neither odd or even. The “even part” of x1 can be calculated using

the even decomposition:

xe =
x(t) + x(−t)

2
=
u(t− 1) + u(−t− 1)

2

(b) To simplify the u(f(t)) function, we directly use the definition of the u(t) function:

u(f(t)) =

{
1, f(t) ≥ 0
0, f(t) < 0

4



Then we have the following expressions:

u(2t− 3− 2) =

{
1, 2t− 3− 2 ≥ 0

0, 2t− 3− 2 < 0
=

{
1, t ≥ 2.5

0, t < 2.5
= u(t− 2.5)

We have

x1(t) ? x2(2t− 3) = u(t− 1) ? u(2t− 3− 2) = u(t− 1) ? u(t− 2.5)
=
∫∞
−∞ u(τ − 1)u((t− τ)− 2.5)dτ

Then, we simplify the function inside the integral:

u(τ − 1)u((t− τ)− 2.5) =

{
1, τ − 1 ≥ 0 and (t− τ)− 2.5 ≥ 0

0, τ − 1 < 0 or (t− τ)− 2.5 < 0

Case 1: t ≥ 3.5, we have

u(τ − 1)u((t− τ)− 2.5) =

{
1, 1 ≤ τ ≤ t− 2.5

0, otherwise

Case 2: t < 3.5, we have

u(τ − 1)u((t− τ)− 2.5) = 0.

Then, the convolution equals:

x1(t) ? x2(2t− 3) =

{ ∫ t−2.5
1

1dτ = t− 3.5, t− 3.5 ≥ 0

0, t− 3.5 < 0
= (t− 3.5)u(t− 3.5).

(c) Use the same method as (b) to simplify the u(f(t)) function:

u(2t− 1) =

{
1, 2t− 1 ≥ 0

0, 2t− 1 < 0
=

{
1, t ≥ 0.5

0, t < 0.5
= u(t− 0.5)

Let y(t) = x1(2t) ? [x2(−t)et], then we have

y(t) = u(2t−1)?[u(−t−2)et] = u(t−0.5)?[u(−t−2)et] =

∫ ∞
−∞

u(−τ−2)eτu(t−τ−0.5)dτ

Then, we simplify the function inside the integral:

u(−τ − 2)eτu(t− τ − 0.5) =

{
eτ , −τ − 2 ≥ 0 and (t− τ)− 0.5 ≥ 0

0, −τ − 2 < 0 or (t− τ)− 0.5 < 0

=

{
eτ , τ ≤ min{−2, t− 0.5}
0, τ > min{−2, t− 0.5}

5



Case 1: t ≥ −1.5, we have

u(−τ − 2)eτu(t− τ − 0.5) =

{
eτ , τ ≤ −2

0, otherwise

Case 2: t < −1.5, we have

u(−τ − 2)eτu(t− τ − 0.5) =

{
eτ , τ ≤ t− 0.5

0, otherwise

Therefore, we have the result:

y(t) =

{ ∫ −2
−∞ e

τdτ = e−2, t ≥ −1.5∫ t−0.5
−∞ eτdτ = et−0.5, t < −1.5

Figure 2 shows the procedure doing the convolution:

Figure 2: Problem 2c
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Problem 3 (6 points)

(a) The impulse response of the system is denoted as h(t) and the Laplace transform of

h(t) is denoted as H(s).

Since x(t) ? h(t) = y(t) and taking the Laplace transform in both sides, we get

X(s)H(s) = Y (s), and

H(s) =
Y (s)

X(s)

We have:

X(s) = L{x(t)} =
2

s

Y (s) = L {y(t)} = L {(t− 2)u(t− 3)} = L {(t− 3)u(t− 3) + u(t− 3)} =
e−3s

s2
+
e−3s

s

Therefore,

H(s) =
Y (s)

X(s)
=

(1 + 1
s
)e−3s

2

Taking the inverse Laplace transform:

h(t) = L−1
{

1

2
e−3s +

1

2

1

s
e−3s

}
=

1

2
δ(t− 3) +

1

2
u(t− 3)

(b) Since we have the response to x(t) = 2u(t), we have y(t) =
∫∞
−∞ x(t − τ)h(τ)dτ =

2
∫∞
−∞ u(t − τ)h(τ)dτ = 2

∫ t
−∞ h(τ)dτ . Then by taking derivatives on both sides, we

get

y′(t) = 2h(t)

Thus, we have the impulse response:

h(t) =
1

2

d y(t)

dt

=
1

2
[u(t− 3) + tδ(t− 3)− 2δ(t− 3)]

=
1

2
[u(t− 3) + 3δ(t− 3)− 2δ(t− 3)]

=
1

2
[u(t− 3) + δ(t− 3)].
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Problem 1 (12 points) In this problem, we use a set of blocks that can perform basic functions

to build more complicated desired systems. Basic systems/connections are given as follows.

Note that some of these systems have two inputs and one output.

(1) A system that delays the input by one unit, i.e., when the input is x(t), the output is

y(t) = x(t− 1), as in Fig. 1 (1).

(2) A system that performs multiplication with Aeat (parameters A and a are arbitrary real

numbers that you can select), i.e., when the input is x(t), the output is y(t) = Aeatx(t),

as in Fig. 1 (2).

(3) A system that performs integration, i.e., when the input is x(t), the output is y(t) =∫ t
−∞ x(τ) dτ , as in Fig. 1 (3).

(4) An addition, i.e., when the input is x1(t) and x2(t), the output is y(t) = x1(t) + x2(t),

as in Fig. 1 (4).

x(t) y(t)
D

y(t) = x(t− 1)

(1) Unit delay block

x(t) y(t)
eat

A

y(t) = Aeatx(t)

(2) Multiplication block

x(t) y(t)∫
y(t) =

∫ t
−∞ x(τ) dτ

(3) Integration block

x1(t)

x2(t)

+
y(t)

y(t) = x1(t) + x2(t)

(4) Addition connection

Figure 1: Basic blocks

Suppose you can use as many basic blocks as you want of each basic function. Connect these

basic blocks to create systems that can perform the following functions, as shown in Fig. 2:
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(a) (4 points) A system that implements the input-output equation:

y(t) = 2x(t− 3) +

∫ t−1

−∞
3e2τx(τ) dτ

Is this system time invariant?

(b) (4 points) A system that implements an LTI system with impulse response:

h1(t) = 3δ(t− 2) + 5[u(t)− u(t− 1)].

Is this system causal?

(c) (4 points) A system that implements a causal LTI system with transfer function

H2(s) =
5s+ 7

(s+ 1)(s+ 2)
.

Is this system stable?

You need to clearly draw the blocks and their interconnections, as well as clearly denote the

parameters a and A selected for each block you use.

x(t) y(t)
?

y(t) = 2x(t− 3) +
∫ t−1
−∞ 3e2τx(τ) dτ

(a) System a

x(t) y(t)
?

h1(t) = 3δ(t− 2) + 5[u(t)− u(t− 1)]

(b) System b

x(t) y(t)
?

H2(s) = 5s+7
(s+1)(s+2)

(c) System c

Figure 2: Systems to be built
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Problem 2 (10 points) You are given the signals x1(t) = u(t− 1) and x2(t) = u(t− 2).

(a) (2 points) Is signal x1(t) even or odd? What is the “even part” of x1(t) if we do

even-odd decomposition?

(b) (4 points) Calculate the convolution integral x1(t) ? x2(2t− 3).

(c) (4 points) Calculate the convolution integral x1(2t) ? [x2(−t)et].

Hint: You can use the formula for the following integration:∫ t2

t1

eat dt =
1

a
eat|t2t1 =

1

a
(eat2 − eat1).
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Problem 3 (6 points) Consider a causal LTI system. Someone tells you that when the input

is x(t) = 2u(t), the output is y(t) = (t− 2)u(t− 3). Can you find the impulse response h(t)

of this system, by

(a) (3 points) First finding the transfer function through Laplace transform and then taking

the inverse transform?

(b) (3 points) Without using Laplace transform, but just by using properties of the δ(t)

function or step function?
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